Worksheet L5


Solving Logarithmic Equations
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Logarithmic Equations : Per/Sec. Date

Solve each of the following for x.

1. logs(2x—1)+logs(x—2)=1 . L, .
2. logy(2 - 2x) +logy(1 -x) =5 . 2, FEeT
3.} -logig(x — 3)=logigx 3 =t
4. log,(3x+1)+logy(x — 1) =log,(10x + 14) » 4, -
5. logy(3x% —5x —2) —logy(x —2)=1 5y favee e o
6. logx+log(29-x)=2 6.
7. logys(x — 1) +logys(x +3) =logy v/7 PR
8. 2log(4 - x) —log3 =1og(10 — x) 8. __
9. logx®-logx3=10 ‘ 9. __
10. (logx)? —logx3 =10 10.
11. log4(x+1)—logs(2x — 3) =1og, 8 1. . .
12. logg(—x)+logg(3 — x) =logg 10 12,
13. loggg(x+4) +logg(x — 2) = 3 3.
14. log;x=2+%logy(x — 3) 14,
15. 2logzx -logz2x=2 15.
16. logx +(logx)2 =0 16.
17. (ogx)?+logx~1-12=0 17.
18. logyx? = (logy X)? ) 18.
10. (logx)? —logx® = 14 19. _

| 20. 2(logz x)® - (logz )2 = 0 20.
21. slogsx-logs2 = 125 21.

22. logyvx+4+3logy(x —4)=log,3 22.






Solutions
:
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